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< 139,227 0 139,227
Al 324,864 0 324,864
TS EEV TS 464,091 0 464,091
O CH3td E©DIQE XA Q2] 452,904 0 452,904
= 135,871 0 135,871
Al 317,033 0 317,033
O sty eoloe NANY 288
(D&, TH) 1,187 0 11,187
= 3,356 0 3,356
Al 7,831 0 7,831
201 et | 516 0 516




A J1= 0l A

I gy AgH3

SRl pIREM CEEEED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 55 0 55
Al 361 0 361
01 AbR 22l gl 516 0 516
O tHsts SIloE XA =X 516 0 516
< 155 0 155
Al 361 0 361
ol 274,626 245,626 29,000
sgx ez 274,626 245,626 29,000
MaEs o B2 76,626 66,626 10,000
301 LB A 0,000 0 10,000
12 JIEH2 &3 10,000 0 10,000
O NYBEAAXS €Y 8 Sl et
NinE-2Y 10,000 0 10,000
JTESYAY N 185,000 66,000 19,000
203 @2 = 4,000 6,000 A2,000
EEE S EEET 4,000 6,000 2,000
O AL L2E7(Pool) 4,000 6,000 £2,000
405 Tt aHF St 76,000 55,000 21,000
IR EEEEN 76,000 55,000 21,000
O TS TAFSH (2018E B8] AT
Ol HIE| = 21,0008 & ) 76,000 55,000 21,000
DAGED S4BT BH2EH T4 106,391 90, 491 15,900
= 15,900 0 15,900
Al 90,491 90, 491 0
gelxe 4nBeMH PE 100,931 85,031 15,900
< 15,900 0 15,900
Al 85,031 85,031 0
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< 7,900 0 7,900
01 =LH 01 bl 7,900 0 7,900
O NXH BESWI LYY Y3 L
SR 7,900 0 7,900
< 7,900 0 7,900
WS ES (I1804 D) 7,643,989 17,143,360 500,629




2N
X ZH -
L= B

el

J1 =0l &F 2t
HRES (I 0l Ak
WEAHH X =

SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
HEHHX = 17,643,360 17,143,360 500,000
HEHAH X = 17,643,360 17,143,360 500,000
702 JIS3HES 500,000 0 500,000
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